FHLAOBES

03
%

EENE =
2 124
parl 172 | 1
B 143 ] 2
T8 R 139 | 3
28 136 | 4
2 15 8 135] 5
=8 8 128 | 16
=28 114 | 43
ERE 11.3 | 44
BRAR 112 | 45
i 8 & 11.2 | 46
me e 10.3 | 47

817 : %

m @] =
g8 8 & 208 | 1
JIl 8 156 | 2
X i @] 146 | 3
m £ @ 142 | 4
gL ™ 139 ] 5
28® 137] 6
8 H 134 | 7
gt B ™ 134 | 8
B8 %0 & 132 9
mBmh 13.1] 10
W™ 130 | 11
E- | 127 | 12
Bk ™ 127 | 13
P [31] 127 | 14
WEAT 126 | 15
BBEDH 122 | 16
fc = @ 121 | 17
E &8 120 | 18
PEB® 117 | 19
il & & 116 | 20
ASIRE 103 | 21
= 10.3 | 22
BPd 100 | 23
ARE B ™ 99 | 24
s E D 96 | 25
BEET®D 95| 26
fc dv @7 91| 27
AN f & 8.4 | 28
=REEA] ] 6.4 | 29

(AT

® FLAO0EKRBAD)ES

E28F1081BREN=ERDFIADEEE12.8%T.

ZEHIBEME1 61ET>TNET,

RBATIE, ABE., )IEE, EHEORICE<. BFRBE. X

o, #FeIBEFTESZOTNET,

2E-PEFR: LBEFHEBIADHES
ZERTH: —EREBBCEMREHRMEFAD

(EH7E]

15@EBAO-LAD X100

ERk285%10818

[BiI: %]

(UE) (F#H
| BB
14

13

B 2

11

B o

15
14
13
12
11

LR R R AR AR

[ B4 : %]
(L)  (R#H)
[ B
14

13

M 2

11

B o

15
14
13
12
11
10

IR R R AR AR AR



